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Ctod Bk (555 mase 2 ke oand the its hase area = 80 em x 80 ¢em) shown in the figure
cr 8 bigqusd laver (thrchness 1S mmy, liquid Kinematic viscosity= 5 stoke, and liquid
Cwith constant sclocty of 200 cm/min. The liguid is Newtonian fluid. A g [ 'E_‘.f
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Question 2. In the figure shown below, the flow of water (density=1.94 slug/ft’) from a reservoir is

|
controlled by L-shaped rigid gate which is 5 ft wide and its w cnght 1;1'2 ii lbl'f The gate is hinged at :
point A, IT it is desired that the gate will just open when the water height is 12 ft. Dctcrmlnc the mass
of the required weight W. (. =0
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uestion 3. Gasoline flows. in a horizontal pipe line in which double U-shape manometers are
below. The length of the pipe,

connected at one location as shown in the figure

l”l'-' gasoline discharge to atmosphere, is@u m.) Determine the
‘e *nine. Nealee ir ¢ i ¥

cngth of the pipe. Neglect air column in the manometer system.
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swestion 4. I iquid water (density= 980 ko/m*) s supplied continuously to the tank shown in the fisure
dresiie . - - - ‘.. / 5 . , = 5 58 .
Tmm;-;in a constant water level. The tank is placed on a horizontal plane which has frictionless
rtace. Negleet all energy losses to answer the following:

What are the main energy transformations for the water flow from the constant water level to the
eft jot? § . ' — s

= -

ind the volumetric flow rate through the left

and right jet.
nd the volumetric flow rate of wate

rsupply.
1d the horizontal force F required to hold the tank in place. T,
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